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x>-4 ottt —_—
10 -9 8 -7 6 -5 -4 -3 -2-1 0+1+2 43 +4+5+6 +7 +8 9 +10
x<-2 e ————+—+——— —
10 -9 8 -7 -6 -5 -4 32 -1 0+1+2 43+ +5+6+7 8 +9 +10
x20 —— —_
10 -9 8 -7 -6 -5 -4 32 -1 0+1+2 43+ +5+6+7 8 +9 +10
x<9 —_— ‘ — —t—t—t—0—
0 -9 -8 7 6 -5 -4 3 2 -1 04142 34445 +6 +7 +8 49 +10
—7<x bt e —
10 -9 -8 7 6 -5 -4 32 -1 04142 43 445 +6 +7 +8 49 +10




9 1 x<+7 2. x>2-2 3. x>-8 4. x<-1
x<8 6. x>+1 7. x>+1 8. x<+10
9. x<-5 10. x > —4

2x 8

X
10) 8. <5 1) 3. ZX422X4 12) x+5-[5]>7-[5]
) 2x-6+[6]<4+[6] y EL2
2x£ 3 3
2y x<4
_S_
x< [5]
1) —t—+—
S5 04 3 2 -1 0 +1 2 43 +4 +5 +6
16) —tf 61—+
S 4 03 2 -1 0 +1 +2 43 +4 +5 +6
17)  ©1)
—t—t—ft—t—f—ft—t—* e >
S 04 03 2 -1 0 +1 42 43 +H4 +5 +6
%) —t—t—ft—ft—t—ft——t—1—1—
S5 04 03 2 -1 0 41 42 +3 +4 +5 +6
18) x>-1
—6x <30
x<-=-20
X
= >
_2_10 x<-5
@£3 xSl
-2 2
-2x>14 x<-6
-3<-6x x>-5
x<-7
x<-5
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| |
I I I I I I I ~ T T T
19) 1. 6x-3>21 10 8 -6 4 2 042 +4 +6 +8 +10
2o 5>dxT — o+
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
3. _2x_1024 | | . . . . . . . .
S o L N S e I —
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
bl S ——
-10 -8 -6 -4 -2 0+2 +4 +6 +8 +10
X
__+1S3 | |
> 73 et ——
-10 -8 -6 4 -2 0+2 +4 +6 +8 +10
6.  —9x+1>91 —o——t—t—F—f "ttt
-10 -8 6 4 -2 0+2 +4 +6 +8 +10
7o 9=6x-13 ——————————+—
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
S 222x-8 ————————+——o——
-10 -8 -6 4 -2 0+2 +4 +6 +8 +10
o Grrl<d — —
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
0. -14+2x>-8 e
-10 -8 -6 -4 -2 0+2 +4 +6 +8 +10
200 1L HAx<4 o+ —
210 -8 -6 -4 2 0 +2 +4 +6 +8 +10
2 A< o
-12 -11 -10 -8 -6 -4 -2 0 +2 +4 +6
T o e
2 3 4 5 6 7 8 9 +10 +11 +12
oo Sels «—+—o
-10 8 -6 4 -2 0 +2 +4 +6 +8 +10
5. 3x>-1s ——o———————+—
-10 -8 -6 -4 -2 0+2 +4 +6 +8 +10
o S>-Is o
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
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| |
1 |
-10 -8 -6 4 -2 0+2 +4 +6 +8 +10

8. —x=>-4 > ———F—

|
\
-10 -8 -6 -4 -2 0 +2 +4 +6 +8 +10

o  —dix>-4 1
2 210 -8 -6 -4 -2 0 +2 +4 +6 +8 +10
21y bx _ 18 22) 8—2x—[8]<16-8
~2x<8
x<-3 -2x 8
- Z N
Lzl
x > |-4
23)
x<—4
«———+—F——= | —

|
8 -7 -6 -5 -4 -3 -2 -1 0 1

24) 2x+5><—3 x><—3

-3
2x+5[ < | -3x
2x+5-5[ < [-3x-5
2x —3x—5
2x+ —3x—5+3x
sx[ <[5 ]

]

5

x—l

25) 1. (i) y>-1 2, x<-1
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26)

@)

(i)

(iif)

Ny

-6

E

4 3 2 -1 o
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(1v) Y

6 -5 4 3 2 -1 o 1 2 3 4 5 ‘x

27) (1) swemEb (2) x=2 G) @ 3
28) A x<-3 B x=-3 C x>-3
29) () y<-=2 (i x>2

11.0 BTwmiseNn

wnBsrmener 11

(1) x (2) x 3 v 4 v 5 v
6) v (7 x ® v
uufpd  11.1
1)  2x3 () 1x3 () 3x3 (v) 3x1 (V) 3x2
(Vl) 3x3
vwWpd  11.2
7 4 75 2 4 5 3
31 2 203 1) (12 3) (354
) 51 2 © 1o 4 3/\2 0 1) 2 4 4
6 5) (-2 3 4 8
o |4 3L 2|=]s 1
2 5) 2 -3) (4 2
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vwWipd 11.3
1 (4 2 6)

6 -6 0
@ :Z 3) (Z 2} ) (_24 _06 jj ) :3 126
vwWpd 11.4

12 9 8 —4 2 0 4 -2
M | ¢ 3 @ | 3 || 4 @ |5 o

= 0 2 4
& | s (6) Dy ] ®

NS}

A
Y
-~

(=2 E
N

o © W,
o lwn o

,.\
[un—
~
7\
(SN
hn W
N—
—~
[\®]
~
7\
O WD
[© JEN]
N—
—~
w
~
VY
w
— W
N—

ufpd  11.6
3 2
(1 (18)1><1 2) (2)1><1 ) 1 4 -
2 1 4 4 -5 1
@ |4 3 . ) (6 7) ©) |3 .
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